KL K 103 SEBE LI A LRAA

279 EHEEL AL #8 FEFE
ARAY: 3 A28 (EHA) £26H AL 6 KM 2 7

1. RSB EA (10%): HFa%ERE (T) 9 (F)> £ EHRHA -

() (a) Primal #2 Dual PR a7 B4R E 40 > BSbPR R eh S BB S0 -

() (b) f£R32F — KA > AM kR AP BUE SN AR R B bR 6y R 4k bR 48
Ft.] °

( ) (c) #4 optimal iteration ¥ # -~ artificial variable & {4 » Bl LP 5T &
feasible solution °

( )(d) #—LP 2% mErR# KX (constraints) R4 simplex &+ Z iteration ¥ 7 £
#38. m 18 24 L &4 Basic variable ( A% Efd) - |

( ) (e) 4 simplex #ikF » #& K (Maximization) #4%&-)» (Minimization) %8s & A%
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2. LPEiAEKM (10%)

max Z =20x, +10x, + x,
s.t

3x, —3x; +5x, £ 50
x +x, <10
X —x, +4x, <20
X,%X,,%, 20

(a) Solution Space & 7% unbounded ? &4/ ?

(b) APFFARLTE T A4 R 4L 2 Formulation 4§ 40 optimal solution Z 4k 3%, -

3. ¥ Simplex Method (20%): T & & — 1A & AL a9 AL AR I » X1 ~ X3 > 53 A basic
variables * 5| ~ s ~ 53 % slack variables » 3X45 T 7| Simplex % 7|+ & s 323 - HHH R
BHEE -

Basic X1 X3 X3 Si S2 S3 Solution
Z 0 0 0 15
X| 1 0 0 0 0 2 4
X3 0 1 2 0 0.5 -2
2 0 0 0.7 0.3 1 3 3
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4. %k 433548 Shortest-Route Problem (20%)
AR ERBATREFE] 28 T 2 RMBLE -
(a) Dijkstra’s algorithm

(b) Dynamic Programming

5. %/ M7 Game Theory (20%)
€ 4ot H A P A TR ZMIIEH R Rdo T+ RSB A F 9B FZHIA
#| X Linear Programs(FRss K#&) o

Strategy B1 B2 B3
Al 1 -3 7
A2 2 4 -6

6. F {23 # Generalized Queuing Model (20%) v
Visitors® parking at the Business School of Tamkang University is limited to five spaces only.
Cars making use of this space arrive according to a Poisson distribution at the rate of six cars
per hour. Parking time is exponentially distributed with a mean of 30 minutes. Visitors who
can not find an empty space immediately on arrival may temporarily wait inside the parking'lot
until a parked car leaves. The temporary space can hold only three cars. ~Other cars that can
not patk or find a temporary waiting space must go elsewhere.
Determine the following: '
(a) The probability of having n cars in the system.
(b) The effective arrival rate foe cars that actually use the parking lot.
(c) The average number of cars in the lot.
(d) The average time a car waits for a parking space inside the lot.
(e) The average number of occupied parking spaces.




